Parallel Lines Worksheet
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1.) Assume that a//b and c//d.
a. 
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b. 
[image: image2.wmf]1,3,6,8,9,11,14,16

ÐÐÐÐÐÐÐÐ


c. 
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d. 
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2.) Solve for x, y.

	a. k//j;m//n
x=60,y=18
	b. 
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x=13,y=11
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Given: 
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 bisects 
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a. 
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b. 
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4.) Write a 2-column proof. 
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a. See Ms. Chen for answers.
b. Check out your notes for answers.
5.) State which segments (if any) are parallel? State the postulate or theorem that justifies your answer.
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 because 2 lines cut by a trans. and corr. angles are congruent implies that the 2 lines are //.
	
[image: image14.wmf]//
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 because in a plane, 2 lines perpendicular to the same line are //.


6.) [image: image59.emf]�
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Use the given information to name the segments that must be //. If there are no such segments, say so.

a. 
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b. 
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c. None
d. 
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e. None
f. 
[image: image18.wmf]//
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7.) Name two pairs of parallel lines in each figure, which congruent or supplementary angles did you use to determine parallel lines?
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 since 
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 and the are corr. angles of 2 lines cut by a trans. 
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 since 
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 and the are alt. int. angles of 2 lines cut by a trans. 

8.) Find the values of x and y that make the segments parallel.

x=35,y=20
9.) 
[image: image23.wmf]80
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10.) Skip the question. 
GeoP Proof Practices: Write a two-column proof.

1. 
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	R
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	given
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	2 ║lines cut by a trans, then corr. (’s (
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	Trans. prop of (
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 bisects
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	given
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	Def. of ( bisector
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	Trans. prop of (
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	2 lines cut by a trans. w/ alt. int. (’s (, then lines ║


3. 
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	a//b
	given
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	2 ║lines cut by a trans, then s-s int (’s are suppl.
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	given
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	def. of ( (’s
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	Def. of suppl. angles
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	Sub prop of =
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	Def. of suppl. angles

	c//d
	2 lines cut by a trans. w/ s-s int. (’s suppl. to each other 
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4. 

[image: image43.emf]�

2

�

1

�

A

�

B

�

C

�

E

�

D


	S
	R
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	given

	Draw 
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	Thru a point not on the line, there exists exactly one line // to the given line.
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	2 lines // to a third line are // to each other. 
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	2 lines cut by a trans. w/ alt. int. (’s (, then lines ║
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	Angle + Post.
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	def. of ( (’s
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	Def. of suppl. angles


5. 
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 bisects 
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	given
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	Def. of ( bisector
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	Trans. prop of (
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	2 lines cut by a trans. w/ corr. (’s (, then lines ║
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